1)

8 R
T L :
@ r .
] S RSLLLLatr R PRI
0 -—1 : : 2
10 ! TPlpg) (PCA t%obeamllné'f)
2
D_i—
o
5

o(0 @) (rad)

SICEWAC

107

=
S
o

- . .......I . .......I . .......I L
1081— -------------------------------------------------

a(d cot(d))

- . .......I . .......I . .......I L
1081— -------------------------------------------------

107 1

[any
S
[

107

10°E

107k

107 1

I : 2 3
TPlpg)T (PCA t%)obeamlinel)O

—_

oo a)(cm

z

107

=
S
o

1077

o :
107 1 10

2 3
TPp, (PCA t%obeamliné'f)



	Contents
	Page 1


